History 12 The Rise of Russian Communism

Lesson 4: Russian Economics From Lenin to Stalin


	Purpose: To analyze how the Russian economy changed under the Lenin and Stalin regimes


Our analysis of Russian economics will include the following:
	Lenin
	Stalin

	War Communism

The New Economic Policy

	Five Year Plans: Industry
Five Year Plans: Agriculture




War Communism

· War communism was deemed necessary if Russia wanted to win the Civil War against the Whites

· Peasants and urban workers were affected greatly, as was the small business sector

	Effect on Peasants
	Effect on urban workers
	Effect on small business

	
	
	


· The results of War Communism wreaked havoc on industrial output. Find evidence.

	


· War Communism also led to dissent within the party, as Trotsky wanted to see it continued so a truly Communist state could be created, while the ever pragmatic Lenin decided to reform it after the Kronstadt Revolt in 1921. 
	Describe the revolt: 



New Economic Policy 

· Lenin reformed both agriculture and industry under the terms of the NEP
	Agriculture
	Industry

	· Allowed farmers to profit by fixing an amount of produce that they had to turn over to the state and then allowing them to sell the rest privately.
	· Small businesses were returned to private ownership. Incentives encouraged increased output in industry.


	What was the effect of the NEP on agriculture and industry? Find evidence.


	In what way did the NEP contradict Communist ideals?



Stalin, worried that Russia was far behind the rest of Europe agriculturally and industrially and thus vulnerable to an attack, sought to rapidly modernize the Russian economy with his Five Year Plans. Flip the page to find out more.
The First and Second Five Year Plans for Industry (1928-1932), (1933-1937)

· Russia managed to make radical gains in industrial output through a mixture of incentives and force.
	Incentives
	Force

	Piece-work: workers paid for the job they did
Skilled workers recognized

Stakhanov Medal
	Sent to work camps as punishment
Poor work record = no job




· Many workers suffered extreme hardship. Find evidence
	


· Does this fit into Communist ideology? Why or why not?

	


Results

	1927
	1932
	1937

	Coal

Oil

Pig Iron

Steel


	Coal

Oil

Pig Iron

Steel


	Coal

Oil

Pig Iron

Steel




· To what extent were the plans successful?

	Successful
	Not Successful

	
	


· What other gains were made by urban industrial workers after 1936?

	


Five Year Plans: Agriculture

· Stalin believed that the NEP was no longer acceptable due to the fact that by allowing private property it contradicted Communism, and also due to the fact that collectivization would increase output more rapidly than the private system that was in place under Lenin. All Russian land was thus to be organized into collective farms called kolkhotz. 
· Collectivization did not go smoothly. 

· The Kulaks, small land owners who employed landless peasants to work their farms, resisted collectivization by refusing to give up their land, burning their farms and killing their animals. As a result they were persecuted heavily. Many were forcibly moved to Siberia to work in prison camps, while some 5 million were killed.

· The effects of the Kulak protests included mass food shortages, and another 5 million peasants starved to death during the 1933-34 famine. 

· Grain output and livestock also suffered greatly in the initial stages of collectivization.

	Grain Output
	Livestock

	1922

1925

1928

1931

1937


	1928

1933

1937

Cows

Pigs

Cows

Pigs

Cows

Pigs




What accounts for the significant decrease in livestock in 1933 and the significant increase in 1937?
	


Discussion: Agree or Disagree. The Five Year Plan for Agriculture succeeded due to Communist ideals.
